
Rhino-Rack Fixed Kayak Carrier S510
    Important: Please read these instructions carefully prior to installation.

Maximum carrying capacity: 25kg (55lbs)

Warning:
Use only non-stretch fastening ropes or 

straps.

Recommendations:

Roof racks must be removed when putting vehicle through an automatic car wash.

Caution:

Layout

Important Information

!

http://www.carid.com/rhino-rack/
http://www.carid.com/roof-racks.html


Rhino-Rack Fixed Kayak Carrier S510

Item Component Name Qty

3 Top Cover

Dial

Parts List

!

!
C-channel fitment kit sold seperately
KC - FK8 for Rhino Aero and HD bar
KC - FK9 for Rola Aero and Rola 
Commercial bar
KC - FK10 for European bar

36mm

min. 55mm 
roof clearance

100mm

417mm

1

1

3

7 9

10

11
8

2

4

5
6

 Care Instruction:

Refer for 
C-channel fitment guide

For Heavy Duty cross bars, 
you will need the optional 

C-channel fitment kit.

The fitting instruction for 
Heavy Duty bar is at step 5. 

The kayak loading and 
straping instructions in the 
following pages still apply 



Rhino-Rack Fixed Kayak Carrier S510

2

4

3

4 - 5 N·m

Aero bar shown for fitting instruction purposes

Long nose pliers can be used to assist in positioning the 
rubber tabs in the base support



Rhino-Rack Fixed Kayak Carrier S510

Outside
of vehicle

Pull tight

6 7

8

Loop the strap under the crossbar

5



Rhino-Rack Fixed Kayak Carrier S510

M6 x 32

Flat Washer

Spring Washer

RHINO Sportz, RHINO Aero, THULE Rapid 
& New ROLA Rails bar (PART NO: KC-FK8)

1 2
Replace long 

bolts with 
supplied 

40mm bolt

The 40mm bolts will not protrude out of 
the bottom. The carrier is now ready for 
the C-channel fitment

Long nose pliers can be used to assist in 
positioning the rubber tabs in the base 
support

40mm bolt

How to install and use the optional C- channel installation kit (NOTE: Sold Separately)

4

3



Rhino-Rack Fixed Kayak Carrier S510

6

7

M6 x  ex

M6 x 6 Flat Washer

EUROPEAN Bars (PART NO: KC-FK10)

M6 Tube Nut

M6 x 12.5 Flat Washer

Spring Washer

M6 x 35 T-Bolt

Plastic T-Bolt Tab

Rola Rack & old ROLA Commercial Bar
(PART NO: KC-FK9)

M6 x 

Flat Washer

Spring Washer

NN  N T M ST
B  T SS

T  B  

RHINO Heavy Duty (PART NO: KC-FK8)

Channel Nuts.

are located correctly.

5


